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1. Is
coma
leam
dè
(a)
thachras.


cop.pres
indifferent
with.1s
what
rel
happen.rel

“I am indifferent as to what will happen.”

Note: Showing a basic copular construction with an adjective.
Note: Per Muriel, this is an “old-fashioned” way of expressing this, and she would not use relative a.
2. ?Is
beag
orm
dè
a
thachras.


cop.pres
little
on.1s
what
rel
happen.rel

“I don’t like what will happen.”

Note: A&R say grammatical; Muriel says this is not totally natural, and also is much stronger than “don’t like”, more like “despise”.  She would use construction below.
2a.
Cha
toigh
leum
de
thachras.


cop.neg 
liking
with.1s
what
happen.rel

“I don’t like what will happen.”

3. Bu
mhiann
leam
taing
a
thoirt
dhuibh.


cop.past
wish
with.1s
thanks
tran
give
to.2p

“I’d like to thank you.”

Note: Same as 1-2 but with a noun instead of an adjective.

4. Is
mòr
an
duine
sin.


cop.pres
 big
the
man
there

“That man is big.”

Note: An example of an inverted copular construction.

Note: In such constructions, the predicate precedes the subject.

Note: Muriel says it’s “old-fashioned”; would use non-inverted construction below with tha.

4a.
Tha
an
duine
sin
mòr.


be.pres
the
man
there
big

“That man is big.”

5. *Is
an
duine
sin
mòr.


cop.pres
the
man
there
big

“That man is big.”

Note: Ungrammatical
6. *Is
tidsear
Calum.


cop.pres
teacher
Malcolm

“Malcolm is a teacher.”

Note: Per Muriel, this is ungrammatical. Can only use non-inverted structure.

6a.
*Is
Calum
tidsear.


cop.pres
Malcolm
teacher

“Malcolm is a teacher.”

7. *Bu
thidsear
Calum.


cop.past
teacher
Malcolm

“Malcolm was a teacher.”

Note: Per Muriel, this is ungrammatical. Can only use inverted structure.

7a.
*Bu
Calum
thidsear.


cop.past
Malcolm
teacher

“Malcolm was a teacher.”

8. ?An
coma
leat
dè
a
thachras?


cop.inter
indifferent
with.2s
what
that
happen.rel

“Do you care what will happen?”

Note: Per Muriel, this is “sort of okay”, but odd. Would use construction below.

8a.
A
am bheil
thu
coma
dè
thachras?


Q
be.inter
2s
indifferent
what
happen.rel.fut

“Do you not care what will happen?”

9. ?Is
coma.


cop.pres
indifferent

“I am indifferent.”

Note: This is not in Muriel’s dialect. She would use tha with subject; see below.

9a.
Tha
mi
coma.


be.pres
1s
indifferent

“I am indifferent.”

10. *Cha
choma.


cop.neg
indifferent

“I am not indifferent.”

Note: This is not in Muriel’s dialect. She would use chan eil with subject rather than cha; see below.

10a.
Chan eil
mi
coma.


be.pres.neg
1s
indifferent

“I am not indifferent.”

11. Is
 beag
air
Dàibhidh
e
fhèin.


cop
little
on
David.dat
3sm
self


cop.pres
adj
prep
noun
pro
adj

“David hates himself.”

Note: Showing that the Experiencer cannot be in constituency with the ψ-N.
12. *Is
beag
air
fhèin
Dàibhidh.


cop.pres
little
on
self.dat
David

“David hates himself.”

Note: See 11.
Note: Ungrammatical; Muriel says grammatical only with logophoric reading, i.e. “himself hates David”.
13. Is
toigh
le
Dàibhidh
agus
Iain
(cach)
a
chèile.


cop.pres
liking
with
David.dat
and
John.dat
each
to
other.dat

“David and John like each other.”

Note: Muriel would not use cach “each” but not wrong with it.
14. *Is
toigh
leis
cach
a
chèile
Dàibhidh
agus 
Iain.


cop.pres
liking
with
each.dat
to
other.dat
David
and
John

“David and John like each other.”

Note: Ungrammatical

15. (*)Bu
mhiann
mòr
leam
taing
a
thoirt
dha dhut.


cop.past
wish
big
with.1s
thanks
to
giving.dat
to.2p

“I would very much like to thank you.”

Note: Ungrammatical per note above, but Muriel says okay although she wouldn’t use it. She would use construction below.

Note: Mismatch between final prepositional pronoun and gloss – should be dhut, not dha.

15a.
Bu
fior
thoigh
leam
taing
a
thoirt
dhut.


cop.past
true
pleasure
with.1s
thanks
to
giving.dat
for.2s

“I would very much like to thank you.”

16. (*)Is
glè
choma
leam
dè
a
thachras.


cop.pres
very
indifferent
with.1s
what
that
happen.rel

“I really don’t care what will happen.”

Note: Ungrammatical per note in 15, but Muriel says okay if use fìor “very” instead of glè. 

16a.
Is
fìor
choma
leam
dè
a
thachras.


cop.pres
very
indifferent
with.1s
what
that
happen.rel

“I really don’t care what will happen.”

17. *Am
miann
as
leam
gum
biodh
e
ann


the
wish
that
with.1s
that
be.cond
3sm
there

“The wish that I would have”

Note: Ungrammatical
Note: Muriel was not sure what this trying to mean (the “that he/it would be there” part confused her), but she would use construction below to express.

17a.
A’
mhiann
a
bhitheadh
agam . . .


the
wish
that
be.cond
at.1s ..

“The wish that I would have”

Note: This is not a complete sentence, needs to follow or precede something else.
18. *’S
e
miann
as
leam
gum
bhiodh
e
ann


cop.pres
3sm
wish
that
with.1s
that
be.cond
3sm
there

“It is a wish that I would have”

Note: See 17.

Note: Ungrammatical

Note: Muriel would use sentence below to express.

18a.
‘Se
a’
mhiann
a
bhitheadh
agam …


cop.pres.3sm
the
wish
that
be.cond
at.1s

“It is a wish that I would have…”

Note: This is not a complete sentence, needs to follow or precede something else.
19. *’S
ann
coma
as
leam
dè
a
thachras


cop.pres
there
indifferent
that
with.1s
what
that
happen.rel

“It is indifferent that I am as to what will happen”

Note: See 17.

Note: Muriel would use sentence below to express.
19a.
Tha
mi
coma
dè
a
thachras.


be.pres
1s
indifferent
what
that
happen.rel.fut

“I am indifferent to that will happen.”
20. Is
toigh
leam
cofaidh.


cop.pres
pleasurable
with.1s
coffee

“I like coffee.”

21. Tha
gaol
agam
ort.


be.pres
love
at.1s
on.2s

“I love you.”

